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| Semester 3 Yr. LL.B./IV Semester 5 Yr. B.A.LL.B. (Maj.-Min. System)/
B.B.A.LL.B./B.Com.LL.B. Examination, March/April 2023 (December 2022)

Duration : 3 Hours

CONTRACT - (Law of General Contract)

Instructions : 1. Answer all five Units. :
2. One essay type question and short note/problem is

Q. No. 1. a)

Q.No. 1. a)

compulsory from each Unit.
3. Figures to the right indicate marks.

Max. Marks : 80

4. Answer should be written either in English or Kannada

completely.
UNIT = |

Define offer. Explain the rules relating to valid offer with the
help of decided cases.

BRTIODT), T, AW,I0. W TTIIN FOWORAT
RODTONTR, IFFOS &, BocansRoON DEORD.

OR/ems
Define consideration. What are the essentials of valid

consideration ?
T STOTT T, 35, VA0, T, 3FOT PLTOSRPIZR) ?

Q. No. 1. b) Sneha goes to a book stall and picks a book. When she goes

to the counter to pay the price, the shopkeeper declines to
sell the book. She wants to sue the shopkeeper for breach.
Decide.

B womd HIB Wen Feeh 10T TRTST LosDER.
S0 iy, T Seen 39S Dol JPIHL, TECDERWITTRN,
F9riod TROBD © YR, [ROW 35:'@:0@;3. Reme Fo9r
TROES 0T, VLTI T TABSRY. DeaF WA

OR/e@m»

Marks : 10

Marks : 10

Marks : 6

P.T.O.
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Q. No. 1. b)

Q. No. 2. a)

Q. No. 2. a)

Q. No. 2. b)

Q. No. 2. b)

Mamta invited her friends for birthday party at her residence.
She spent Rs. 20,000 but, Mamta’s friends failed to attend
the birthday party. Mamta files a suit for breach of contract.
Advise Mamta.

ST 3, BeLI0R 3, Tk, BF STHRACD. STWD
BHT) AT TRTDOW  DNDFRRATD. eu8 ROTOTY
A eoZTd WL, BwE wody,. TTOT 33, Fe&%IT 2T
o BARTVY. RTYR 0T VeR.

UNIT =.II

Discuss the legal effects of minor's agreement.
©IR,T FBoD wTOTT TORUTONTS), WIFAD.

OR/eg=»
“Agreement in restraint of trade is void”. Explain with
exceptions.
“53, 390 QFORZ WTOTHY SZRRFE”. STTORTROON
2TOX.

Akil contracts with Nikhil to kill Raj for a sum of Rs. 50,000.
Nikhil kills Raj. Akil refuses to pay the agreed sum.
Can Nikhil recover the amount ?

‘ooes®’ Y 808 SRRES DT T TRTCL gromyoNn
‘e’ WO Wed LT SREEAWZV. ‘AT
Repialin ey R [RBOZTT. ‘@ITTRO T FRWLO
QoBORITYS. ‘RIS B TEOTI SR TRBWBBE ?

OR/&g=»

Raniit kidnaps Suijit's daughter and threatens to kill her if
Sujit does not sign the document of sale deed. Out of fear
Suijit signs the sale deed. Later Suijit wants to set aside the
contract. Decide.

‘Gome'sd ‘Rowe'S Toriv) STTORWTIN WX T
20T BOOTD [ FWODI, WRBOTT G[I TNERY
gnepRTen BEORTS. ©n TLEBE BoDI) BRBZS.
IB[OIC BB € FoaTRy TEITBRILD WO,
NEIFCWAD.

Marks : 6

Marks : 10

" Marks : 10

Marks : 6

Marks : 6
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Q. No. 3.

Q. No. 3.

Q. No. 3.

Q. No. 3.

Q. No. 4.

Q. No. 4.

Q. No. 4.

a)

b)

UNIT =11l

Explain in brief the various modes of discharge of contract. Marks : 10
FOOTONY DRREFOD NG amsrwa% x%a'_:gmn R0,

OR/ags»

Explain the law relating to the time and place of performance

of a contract. .Marks : 10
LOTO BUXDN FoHeodod Jed TR ‘N;%"i TOWODAT

RM&Q WWORD.

Nagesh promised to marry Neeta on the death of his father.

While the father was still alive he married Nagavva. Decide.  Marks : 6
TP 33 Joriod DT FoST LT, HTDIoDRrdFTIN

TS T, 3 Ioredn WHdSTTNGe ToNTHEY
BOTBIRMOTYE.  JeaF D,

OR/esg=»

b) Write a short note on :

b)

OO TS WD :

Impossibility of performance. Marks : 6
JoSeodod g 3.

UNIT - IV
Explain the different kinds of damages. Marks : 10
DG ICHT TOTT FINTT, DTJOR.
OR/eg=
State the effects of anticipatory breach of contract. Marks : 10

wBoWBECD QoegEED U OPROD TOFOTONTS), IeYD.

Babita leaves an article at Namita'’s house by mistake.
Can Babita recover the article from Namita ? Decide. Marks : 6
WRTD WO TRTW, JWwI¢ SFod, T Wed),
WOTEH. WRSHKD JeNSP0n & ST mdmiregu&de ?

QEIFOWR0.
OR/emm
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Q. No. 4. b)

Q. No. 5. a)

Q. No. 5. a)

Q. No. 5. b)

Write sho}t notes on :

oF0 LT W30 :

Liquidated damages and penalty. Marks : 6
ACFO8 T3 TOTT TN ToR.

UNIT -V

Explain the contracts which can be specifically enforced. Marks : 10
OFFFN DORRYTWEITT BOICINTRY, WSORD.

OR/eg=»

What is injunction ? Explain the different kinds of
injunction. Marks : 10

QFOTE, Q003D 7 NG WwROD awromgﬁvq

WTIOR0.

Write short notes on : i
oPO ITES LB :

Recovery of movable property. Marks : 6
30 [T IRRTS.

OR/&z=»

Q. No. 5. b) Cancellation of instruments. Marks : 6

I3 5.
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| Semester 3 Year LL.B. /IV Semester 5 Year B.A. LL.B. (Maj.-Min. System)/
B.B.A. LL.B/B.Com. LL.B. Examination, October/November 2022 (June 2022)

CONTRACT - |
(Law of General Contract)

g

Instructions : 1. Answer all five Units.

Q. No. 1.

Q. No. 1.

(@)

(a)

(b)

2, One essay type question and short note/
probiem is compuisory from each Unit.

3. Figures to the right indicate marks.

4. Answer should be written either in English or
Kannada completely.

UNIT =1

Define acceptance. Explain the rules as to revocation of
acceptance.

A £ SO0 339,309, DND. N(’ﬁ 303053 80037‘(5)&3%&3
ooy DR

OR/egm
Define offer. Distinguish it from invitation to offer.
T ARWIOT, 9,809, D0, B[S Tone TIBIN ST
oY FT]T 9N,
Solve the following problem :
BINT MW, WARRD :
Shiva's son was missing. He ordered his servant Ram to
search the boy. Ram went to different places to search the
boy. Subsequently Shiva declared a reward of Rs. 25,000
to any one who finds the missing boy. Ram is not aware
of this reward. However he finds and returns the boy to
Shiva. Can Ram claim the reward ?
ST TN SLAEROBTOTW. B I AeTFIT TR/
© BDBNIZ, BORBD SBBITH. TOROR IR
SROSRRES) Bowogen wed ¥ed X9E Brerdd. ITI0IT
b & Soromy somtaugbr CeTEO 25,000
WEORRT PREBATD. ORI & WRBRIT wif sy,
SR, & SOTOTI), TEE TN mdmns TORO
G w&mmm Gevw&w

OR/eagen

Max. Marks : 80

Marks : 10

Marks : 10

Marks : 6

P.T.O.
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(b)

Q. No. 2. (a)

(a)

Q. No. 2. (b)

(b)

Mahantesh sold his horse worth rupees one lakh for
Rs. 10,000 to Kantesh. Can this sale be questioned ?

BRBOSED* 2,0 og weicrbo'% a’ocbdo:azd% 5203eT* N
de. 10,000 nier &SR0T, B3 SRooLE) TRWwETEE ?

o UNIT =1l

Explain the circumstances under which consent is said to
be free.
@00 cdnswent Wvg TISIRTTT D0LOTIY
WORD.

OR/egw
An agreement in restraint of trade is void. Comment and
state the exception.
9, TR,  VWFORROT %ot 2T OTY mmnmsd
memo ao& STTNII, £e@e

Solve the following problem :
BINS R0R, WAD :
A, B and C enter into an agreement to a share among

themselves of gains acquired or to be acquired by them
by fraud. Is this agreement valid ?

B, W B T IFY IRIOT TOTOAT SPI?
ROTORWIOWT ﬁ@io&az&gl BOUWBRYLD 0T W OTITIY
InRERBTLTD. B3 WHOTH) NRBFITe ?

OR/egm=

P and Q entered into an agreement where by P should pay
Rs. 50,000 to Q if it rains on a specified day, otherwise Q
should pay Rs. 50,000 to P. It rains on that specified
day. Can Q recover the amount ?

‘T D T A[TD oW wBEWRE SRBERR ST
WOmD ANOT OITOT DoIRTT ‘T’ D ‘T AR 2[R
AT TRICl BB, snedt T D T AR 2[R
ToNT TRTIOWN BRWLIE Q0wWHNE. & INOS DITOT
abs*orbarbgd. ‘T D T RIIRO BRBLWIBITE ?

Marks : 6

Marks : 10

Marks : 10

Marks : 6

Marks : 6

C
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UNIT = 1II
Q. No. 3. (a) Explain the different modes of discharge of contract. Marks : 10
LEOWRE IXEFIOD DT DPOSNTI), DWOAD.
A OR/eg=»
(a) What is anticipatory breach of contract ? State the
consequences of the same. Marks : 10

Q.No. 3. (b)

(b)

3R SeTde wEowRTD EPHLTTER ? “TT
mommrwag TBELO.,

Solve the following problem.
B9NS TR, WRRO.
Ganesh hires a marriage hall from Mahesh. The hall was

accidently burnt before the marriage took place. Ganesh
files a suit against Mahesh. Decide. Marks : 6

Ao Brdsed GIR, DBV WAkt IPSDH.
Fors Brdodss HREES UERE wHoRIR) §iYT THBTCD.
R DB DG, T BRAB. DEFCWRD.

OR/eg=»

Praveen promised to marry Prema on the death of his

father. While the father was still alive he married

Prema. Decide. ) Marks : 6
ToenR IFY ToPod JTUNRT FoIT z;emvd.o*
SoroJdRrPmen TS SRB}I. IF, ool
wabsdbmonde & eSnds), FTB[IRMOTSE.  VEIFOWAD.

UNIT =1V
Q. No. 4. (a) What are the remedies available for a breach of contract ?
Marks : 10
30003 QPSR BRTRE TOTITNTOR) ?
OR/ag
Explain the different kinds of Quasi-Contracts. Marks : 10

(@)

DT Dedad 9T wREOWRENTY, DWOXO.
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Q. No. 4. (b) Write short note on :
ESTed B0

Remoteness of damages. Marks : 6
BRBIWRT S,

OR/eg=

(b) Measure of damages. Marks : 6
TOTRTUFIT T,335069.

UNIT -V

Q. No. 5. (a) Who may claim specific performance of contract ? Marks : 10 (
wEonagedd QOFE, SoBOFoRRY cIRT FerrEOT ?

OR/em=»

(a) Briefly explain different kinds of injunction. " Marks : 10
aws‘omggb DG T,TONTR, xo@mn QTWOD.

Q. No. 5. (b) Write short note on :

e W00
Contracts which cannot be specifically enforced. Marks : 6
0FE, SoDeoFo) Fedonna STITINTL.
OR/eg=»
(b) Specific relief. Marks: 6

Dara% TOTT.
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| Semester 3 Year LL.B. Examination, April/May 2022 (Dec. 2021)
1 CONTRACT -1

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.
2. Oneessay type questionandshort note/Problems

“ " is compulsory from each Unit.
3. Figures to the right indicate marks. .
4. Answer should be written either in English or
Kannada completely.

UNIT = |

Q. No. 1. a) Define acceptance. Discuss the rules regarding a valid
acceptance with leading cases.
x‘;;esdewomq a'admég%?. 99,000 NS z’i’eq)éﬁ TowoHas
aodomﬁfv‘:&; gédmﬁw&o&)ﬁ 2330,

OR/us@=» ’ .

Q. No. 1. a) An agreement without consideration is void. Discuss. Marks : 10
T3POOGT LT 3BT, WEFAD.

Marks : 10

Q. No. 1. b) Ram's son was missing. His servant went in search of the
boy. Subsequently Ram declared a reward of Rs. 1,00,000
to anyone who finds his son. His servant though not aware of
the reward finds his son. Can the servant claim the reward ?  Marks : 6
oosd OWST &Won 33@6@0&3&5&. T BeTTR0 BIBONTR),
ZORBERORE BECLI. & TWNI TORBEROTE imgpoﬁ
gn. 1,00,000 wERNT BRWIYToN TR TREAATIR.
Fegan 85 WIORRTREQOTTIR (Evav] mmmmm.
eS8 LITOTIIRTZI Feshomede ?

OR/&E=»
Q. No. 1.b) Ajay sold his electric car worth Rs. 7,00,000 for Rs. 70,000

to Vijay. Can this sale be questioned ? Discuss. Marks : 6
w0l Q0WTI 3F O OF ooy, dm,e O3
50, Qwed* QOWTAN B WRT TR. nenR SROTJ.

B InoounTY, JdTwaTe ? W¥FAD.
P.T..
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UNIT - 1I

Q. No. 2. a) What s fraud ? Explain the essential elements of fraud. Marks : 10
Tows R0mTes 2 oIS EoLA ;ﬂ&ﬁﬁ@&t{% 2RO,

4002

OR/&@=

Q. No. 2. a) Explain the provisions relating to capacity to contract. Marks : 10
BPOT SIFIN :‘)owoami, aommnefai QWORD.

Q. No. 2. b) Arun promises to obtain an employment for Anita in a school.

Anita promises to pay ten lakhs to Arun. Is this agreement
valid ? Marks : 6

20T ToCONY LI YUTIR, eTiBRN STV WORR Dedws.
ST ST TR o3 de. EREEN0m wmEs QDT
B LTOOY LwEFImNSode 9

OR/&m=»

Q. No. 2. b) Shiva is a spiritual advisor. Shaila an old Hindu woman is
a disciple of Shiva. Shiva advises Shaila to gift away the
whole of her property to him with a view to secure beneéfits
to her soul in the next world. Shaila makes gift of whole of
her property to Shiva later Shaila wants to cancel this gift.

Advise Shaila. Marks : 6
V) SR OIS oo Q0w &owe %z:éw vy
STNDRS. ReEms s 63 BoLREEY I AT
QIR SO I3 TS TR otd 3D Fooon euTed DTS,
S0 TwT Fouwb I oy TR0V, 3 I IR,
OIS Fou ¢ AR O ARELD WohRH. Jeoon
“waéaima e,
UNIT = 1lI
Q. No. 3. a) What is breach of contract ? State the effects of
anticipatory breach of contract. Marks : 10
T000F QVQOTE F0TOER ? TPIFLRL Fo0
VQOPTHOD TORNVRY Fewo.

OR/&sg=

Q. No. 3. a) Explain the doctrine of frustration with the help of decided
cases. Marks : 10

VRS ITTF) VeoFCWAT TI0NY IToH00T IZ020.
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Q. No. 3. b) Sanéeep agreed to let-out his Kala Bhavan to Jaideep for

Q. No. 3.

Q. No. 4.

Q. No. 4.

Q. No. 4.

Q. No. 4.

Rupees 10 lakhs for the marriage of Jaideep’s son. Before
the date of marriage the Kala Bhavan was destroyed by
fire. Jaideep sues Sandeep for breach of contract. Decide.
TpoemR> I FORIDITE gows g SomhEmh
2 Demrf TR B ©FF AR IREW LT
IR Swoded & FRYSID) eqﬁ [S-etlovtrlover ol
o, Des odesd sl LEonatod oSt s
FHoSTR. NEAFCIOAD.
OR/eg=?

b) Write short note on :
oTO Ted 208000 :
Appropriation of payments.
Bo FomRohE DRC3REATINE.

UNIT = IV

a) Explain the remedies available for breach of contract.
F000F LLLOPEMN TATES TOTIONVIID QIORD.

OR/&g=»

a) What is Quasi-contract ? Explain the different types of
Quasi-contract.
8-2,BOWEE D0TBED ? ANG 08D BTV-LBOWBENTT)

SWOAD.

b) Write short notes on :
oo BT 2000000 :
Rule in Hadley v/s Baxendale.
2,8, V/s wogorde’ QoD
OR/esg»

b) Liquidated damages and penalty.
AFFO2 G TOTT Tone [OB.

4002

Marks : 6

Marks : 6

Marks : 10

Marks : 10

Marks : 6

Marks : 6



&
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UNIT -V

Q. No. 5. a) Explain the provisions relating to recovery of movable
and immovable property. Marks : 10
@G BR :i‘;pd RS ) wdd;ixasfov@déa JowoRAT
GUTWOTNTR, SROAD.
“  OR/uegm

By whom and against whom specific performance of

contract can be claimed ? Marks : 10
300 AOFH, ddﬁebio&aaﬁi oI ) 0T adxg

BT ?

Q.No.5. a

—

Write short notes on : Marks : 6
OFO 83T WI00D :
Contracts which are not specifically enforceable.
ROFR S0Be0F0DTI, ORRYTRNT FTTONLD.
OR/@g=» : t

Q. No.5. b) Injunction. Marks : 6
:Dwroz;uazi A

Q.No.5. b

—
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First Semester 3 Year LL.B./IV Semester 5 Year B.A.LL.B. (Maj.-Min.
System)/B.B.A.LL.B./B.Com.LL.B. Examination, October/November 2021

Duration : 3 Hours

CONTRACT - V/LAW OF GENERAL CONTRACT

Max. Marks : 80

Instructions f Answer any five Questions from group (a), each

Q. No. 1. a)

Q. No. 1. b)

Q. No. 2. a)

question carries 10 marks.

2. Answer any five Questions from group (b), each

question carries 06 marks.

3. Answer should be written either in English or Kannada

completely.

Explain the essentials of a valid contract.
2000 mmmuc;a - {oplern] emssv BOTNID, DTIORO.

‘A’ a customer, picks up an article in a departmental store
and takes it to the cash counter. B, a clerk at cash counter
refuses to sell as it is only a sample, but not for sale. ‘A’
wants to institute a suit against the owner of the store for
breach of contract. Advise ‘A’.

‘@ Q0w W) M,BII0 DLNECT Bon@ONY wond
SRS, eo:'m esddo SNS> RTERS XYY, SRTBRoE
mea’m Wfdo m?a’ NOSRIY T wab B0 T
F@RSoIRNE Do dmrut? AET WOROE DT

BRELO amﬁa&d& ‘'3 d Lonao NI &)daz:fo

FOOF WOoPIWN DTV, BRELY WOPEOTE.
‘@Rt HoBowsy JeaD.

Explain the doctrine of ‘Privity of Contract’ with exceptions,

if any.

f{eplo S Lo A T oa’ddo ¢umdﬂ¢dd’ smndecddn
DTOR0.

Marks : 10

Marks : 6

Marks : 10

P.T.O.
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Q. No. 2. b)

Q. No. 3. a)

* Q. No. 3. b)

Q. No. 4. a)

Q. No. 4. b)

Ramu invited his friends for dinner. His friends agreed to
attend the dinner. Ramu and his wife prepared the food by
spending Rs. 10,000/-. But Ramu’s friends failed to attend
the djnner. Ramu wants to institute a suit against his friend
for breach of contract. Can he do so ?

TR e’ai geaomd e, em&si::@ WO, ©=I x}‘e&owo
wtd w0t adeodty TRy Sy eos Bo@d @
R0 CRETROW DB NG SEOHR, FoIoABD. w3
TORRNT HeboTDD enniid Wode, Tom 3T RebIT DT

&

FOIOS VLT IA m’da'bag BRBED ud?aﬂ‘;gd S

o~

Tt Inwuacse ?

Who are competent to contract ? Explain the effects of
minor's agreement.

SO0, SnBEAYLE cRd BBFD? v TR
Snadrod (Reejeinla] w‘amd)ﬂ#ag QDWORO.

‘A’ kidnaps B's son and threatens to kill B's son if ‘B’ does

not sign a contract. Then ‘B’ signs. There after ‘B’ wants to
set a side the contract. Can he do so ?

¢ & WISt ewEde drred ) W wed soon
xfaocmdi TIOTY ‘WS don’kfa&g‘ LICO S lanly) Bcodom)
RS, ont ‘Wb Recdd) DHRR © 03 W ©
3@63;‘ Sebrieemen WS e=D Tort BRELBEE ?

‘An agreement in restraint of trade is void'". Explain and state
the exceptions.

‘@Qbaig‘ UFORRT o o3 vadaig‘ DTORO T
ST e&’mdﬂv@‘ TELO.

‘A’ and ‘B’ entered into an agreement whereby ‘A’ should pay
Rs. 10,000/~to ‘B, if it rains on a specified day, otherwise ‘B’ should
pay Rs. 10,000/ to ‘A’. It rains on that specified day.

Can ‘B’ recover the amount from ‘A’ in a court of law ?

QB ‘W womd LTOTIF) IRBIRCEY W0
wom AMOT OIToS SWoRES ‘A WAk 10,000
Rl nEde:. IYoIRnOgs ‘wRd ‘' 10,000
dRTRe) dautied. & AROY BRGeEd SaRrEE. Wb
TAAROONTY, ‘'0T Vo) JRRO TnBEwBTEe ?

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6
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Q. No. 5. a) Explain the different modes of discharge of contract.
BOR0R ARHFFOH DT JFONVR) DFOR0.

Q. No. 5. b) ‘A'adancer agreed to dance in the theater of ‘B’ at a future date.
~ Thereafter, ‘A" met with an accident and lost both of herlegsin
that accident. Hence, she failed to give dance programme in

the theater of ‘B'. ‘B’ instituted a suit against ‘A’ for breach of

contract. Decide.
‘e 20w Frsadd ‘W S Sonsboddnd wooedes et OF
]rAFA RIHTD em-ewm@w

ROIRA & mﬁo a0dn weork sbisomh ©
uadm%n ‘e WS moawa 55% saobrgm Epden
QPRI ‘U&'Sda&di&odw%oth m&
BRBE. JeaFow0.

Q. No. 6. a) What is ‘Breach of Contract’ ? Explain the types of breach

of contract.

T 0008 HuRonE SoEted ? B00S YuRopSeh TTONYED

DTOXO.

Q. No. 6. b) Write a short note on :
‘Appropriation of Payment’.
‘Tormod FRER Teasd TeeIbold' HOD womd SO e5FS 20w,

Q. No. 7. a) What is Quasi-Contract ? When does Quasi-Contractual
liability arise ?
@8 FoO0) 2008 7 @8 Too0n IBeEmod odnwen

TR 2

Q. No. 7. b) ‘A’ was a tenant in B's house. ‘B’ failed to pay Municipal
taxes. Municipality announced auction sale of the house to
recover taxes. ‘A’ paid taxes to avoid the sale. Can ‘A’
recover the amount from ‘B’ ?
‘U ‘WS ey wwafmRt ‘Wb Sndtyiod m
Bowdy, & 0 Hed Inden oo ‘W aﬁaz&:d)ab
Fooes Swes Toows TAREXBODRD Preared. © mmm
Zamen ‘U 303 BraRorood INESDH, WD © mm
93208 Ked nauEe?

Marks : 10

Marks : 6

~Marks 10

Marks : 6

Marks : 10

Marks: 6

4
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Q. No. 8. a)

Q. No. 8. b)

Q. No. 9. a)

Q. No. 8. b)

Q. No. 10. a)

Q. No. 10. b)

Explain ‘Special Damages' and ‘Liquidated damages'. Marks : 10
VPR TOTORI ' DY ‘T[T APFOY WOTOFS ' [,
QTOR0.

"X’ centracts with ‘Y’ to pay ‘Y’ Rs. 1,00,000/- if he fails to

supply the goods worth Rs. 20,000 to 'Y’ on a particular day.

‘X’ fails to supply the goods on that day. Is ‘Y’ entitled

to recover Rs. 1,00,000 from ‘X’ ? Marks : 6
X DY TSR word TR BRABEANVWS. ©50Y,

0ol DOFRFEBAE OSTm> X' & 20,00000m00
@o@#mw’ﬂ@d ' &Y' & 1,00,000
demoonch BRSNS dou. & AOFIEENT

83T X' ROBMYR) HpBALd IFOHWI. Y’ D

X Bod 1,00,000 demiabi SHe6 dndes HR

Brotmmsiode?

Explain the contracts which cannot be specifically enforced
under the Specific Relief Act. Marks : 10
JOFE, WoTT LHICHTTRADY, AOFR, FTFeodod:

Sedonnd BOOTONT) DTORD.

‘A’ is B’'s medical advisor. He demands money of which ‘B’

declines to pay. ‘A’ then threatens to make known the effect of

B’s communication to him as a patient. ‘B’ wants to institute

a suit against ‘A". Advise B. Marks : 6
‘U W FGteod TUBRUMNSE. ST geonR),

TODT mcfw W aoaa’aﬁosa§ “n ‘o' z..u
omeno&m\ ‘WA eI m&o a.n&oaodoao

WeTONTRRI[TN ‘WA Woogos) ZEoS. ‘W

‘'S &)dod TRTBODRY, BRBLD wamimai ' #oéwaab
e,

Explain the provisions relating to the cancellation of

Instruments. Marks : 10
DT TNV CTARVAIRTE, Toworw HTRIT
ao-bdaﬁdafa 23020,

Write a short note on : Marks : 6

Declaratory relief.
PRFRIT TOB0E BOBD 2,07 TV 85363 BoR00.
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First Semester (3 Year) LL.B. Examination, March/April 2021

Duration : 3 Hours

Instructions : 1. Answer any five questions from group (a) each

Q. No. 1. (a)

Q. No. 1. (b)

CONTRACT -1

question carries 10 marks.

Max.

Marks : 80

2. Answer any five questions from group (b) each question

carries 6 marks.

3. Answers should be written either in English or Kannada

completely.

Define ‘proposal’. Explain the circumstances under which
it lapses.
‘BRI ONT, YT 9030 da?&rbaéw ﬁcdzp’rm#&l
QB0%0.

‘A’ proposed to sell a radio to ‘B’ by letter received by ‘B’ on
1¢t March 2021. ‘B’ posted his acceptance letter on
27 March 2021 which reached ‘A’ on 3 March 2021.
Meanwhile ‘B’ revoked his acceptance by a letter posted on
39 March 2021 which reached ‘A’ on 4™ March 2021. Is
‘B’ bound to buy the radio ?

‘e I3 SercipR BRoE FmBsond ‘W A =3
0T FHWATD. e ‘wark 2021Fc [RD SRWF
2,008 Z0eDTorH Seo®. ‘W) IF wonemd TFII,
20213e QD Rw'F AOBSe ODToD eoedod TR
BHGATD. e ‘e i’ 20213 VRN IoeFF  BoRTSE
0eDToTD BB, B @B ‘W BF, 0NETITIT,
LOIRRBRN S BI[DY, 2021 WAL [pure  BoRTe
F0eDF0T) THBATW, 2 ‘@' 20213 WD [RUWFF
TYJe Z00eDTOT> BLOLD. ‘WD FeROIRETTY D0
WETNTETe ?

Marks : 10

Marks : 6

P.T.O.
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Q.No.2. (a)

Q.No.2. (b)

Q. No. 3. (a)

Q. No. 3. (b)

Q. No. 4. (a)

Q. No. 4. (b)

2 (AT

State the exceptions to the rule that ‘An agreement without

consnderatuon is void'. Marks : 10

SPOOVT TR LTSN wcwe:b&dod csa’m*dﬁ#a&
0.

Ganesh agreed to sell his T.V. worth rupees twenty

thousand to Mahesh for two thousand rupees. Later,

Ganesh refuses to sell T.V. to Mahesh on the ground that

price is too small. Can he do so ? Marks : 6
NEeTI0 WPy WOT TR ddodod, t.omd

£3.80.0005%) DDESIR 20> WO feToanloubipt MOauwadw

WHBRR saﬁ Jo30 Wdodky wEe Famadncodond

Beo r(vsea’ab g W00 TII IRTLBRBL0
QORBOROTE. LTI Tort mduz&deo

What is contingent contract ? Explain the rules relating to
the performance of contingent contract. Marks : 10
RoglSReod BoRDY DoTBeRd 9 RogRRecd S0 Sds3e08t
ToLodAT ;%o:ﬁ:aﬁ:r{%*a’g* DTORO.

Reshma agreed to work as house servant and to have
immoral relation with Rajesh, for which Rajesh agreed to
pay Rs. 10,000/- per month. Reshma kept up her promises,
but Rajesh refused to pay. Reshma institutes a suit against
Rajesh to recover the promised amount. Decide. Marks : 6
Jemmed =0IFFoRTIvN For InBeo ToBy  oF T
xfowodfbod QoL TOHEEBINTS Toss mamwm

Z3cinn codesd sonert 10,000 BRmRc BRRED
w&wg YR, Semsh 33 TSR Sudeondvy, wud
e Heodoren DEONTD. eéiraua IS BEIIT
BHECLLD Tezpehd oordeds &)dod a‘adoﬁodo ammw
RVEIFCWRO.

Define ‘Consent’. When does it become free ? Marks : 10
‘ﬁd@oﬁﬁg‘ 33,509, R0. 89z odneen 008 #wg%:imbgd?

Mohan aged 16 years, agreed to sell his scooter to Gopal

for Rs. 5,000/, but later refused to perform his promise.

Gopal institutes a suit against Mohan. Will he succeed ?  Marks : 6
BRI oW BOTOD Sorg BEon Reswodn 3;3

muo‘ab 5,000 dewmor IRV L2ERN T, ond

H020 35 FeiRE SHOHL DOBORET. Heemer

Reess &)cbd mdo:aai) BT, D mﬂmddm



TN
Q.No. 5. (a)

Q. No. 5.

Q. No. 6.

Q. No. 6.

Q. No. 7.

Q. No. 7.

Q. No. 8.

Q. No. 8.

(b)

(@)

(b)

(a)

(b)

(@)

(b)

Explain the doctrine of frustration with decided cases.
IR 33, (CToriont AoR)RR) Ver iR Fedeansieodn
DR0R0.

Ramesh promised to marry Radhika after the death of his
father. However, during the life time of his father, Ramesh
married Revati, another woman. Radhika institutes a suit
against Ramesh for breach of contract. Decide.
goeddy I, For [yTww Hoed T RTYRY,
d}d:domm@mh B3R SuSN 8w, Ymene, o=
3o whsthmonse Sebedd Bed wow BRY, abaoﬁodoab
BRI, OB TS T, B8 CveBRN
TPV, BLATW. Ve RO,

Explain the law relating to the time and place of performance
of a contract.

wold> BOOT SoFeodod H[ed T xé#@ Rowodas
FRRTIY, DTWORD.

Write a short note on discharge of contract by agreement.
LTVOTE TRT FOOT DWHFIOD BOB LoD OFO 3T
280900,

Explain the law relating to liquidated damages under the
Indian Contract Act.

ERBS0D BoOTH LHRCLETRODY, B, m@dg RoLoQAT
FORBRI), DWORO.

‘A’, a trader, leaves his bag containing fruits in the house
of ‘B’ by mistake. ‘B’ eats those fruits. ‘A’ claims price of
the fruits from ‘B’. Decide.
‘e QoW L, TYTOIN IF Bed eI, 3%&80030:3
‘WE DD IR, W & TQNFR) 30T, ‘@'
' RoB TP 3 gesbead. DEDF OI0RO.

Explain the remedies available for breach of contract.
30008 WVOTE wmenR GRS TOTONTRY, QTORD.

Ashok, due to mistake of law, pays income tax, which he
is not bound to pay. Can he recover the same ?
eBneEs) mood IorabT Bowdw BREMOFOI),
BRODYIHNTDR  TOBARS Sa;fb R&Bowes &meod ot
BoroTE, BN U3 oY TAcHLRE ?

4002
Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6
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Q. No. 9. (a) Whatis Injunction ? Under what circumstances, court can
grant perpetual injunction ? Marks : 10
?Owroz;fmziq RoTTeD 9 o ﬁodaﬁrr{#q’ T, 0RO
aagzs awrcz;wéwwdg‘ NEBLIITO ?

Q. No. 8. (b) Avinash is the owner of a building. Satish expels Avinash
from that building by force. Advice Avinash. Marks : 6
BOITD 2,00 BRRE BROBBNTE, BT & Be3E0T
SOMII, WOBERRNT BnSmsseas. wamT
ﬁoaorbagl NeRO.

Q. No.10. (a) By whom and against whom a specific performance of

contract can be claimed ? Marks : 10
foptarnt ?Jarsa; 35&?(’05033&% o3RT F) oind &)docgD
ez 9

Q. No.10. (b) Write a short note on Rectification of Instruments. Marks : 6

ODTZne STTIROD RO 2.0 wPo e5303 Wwdowo.
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| Semester 3 Year LL.B. Examination, December 2019
CONTRACT - |
(2018 and 2019 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.
2. One essay type question and one problem or one short
note are compulsory from each Unit.
3. Figures to the right indicate marks.
4. Answers should be written either in English or Kannada
completely.
BAuSnd: 1. ooy 2w cdvlernen UZ020.
2, F3adromd CVAFROT 20T g’:gﬁ DY) tomd ﬁﬁox’éﬁ
S womd OTV LTI LVFOROFDd sa:&o:b Slilettiag
3. wondOD Lodod rbmﬁ@dg‘ RRWRZE.
4. w}dd;{i RoTREIETON VNI R LT IR,
[ AloTovolini. ok

UNIT -1

Q. No. 1. a) Define acceptance and what is the effect of acceptance ? Marks : 10
©ONEBIBTY 39203, 240 L) LoNeTSE VO ?

OR/eg=

Define consideration and what are the essentials of a valid
consideration ?

e TR0 B Oy § FePoc exYdrkd oI ?

b) “A” has selected one book which is displayed in a departmental
store for the purpose of purchase. But manager of the departmental
store refused to sell the book. “A” has filed a suit against the 8
manager for the breach of contract . Decide. Marks : 6 £ g
DOBRT NHFEN " T Lepihecd eonBobd FEdFELL
2.0T0 @gﬁddg‘ ©03), SRBELE. SBT JgPneod Lon@odd
GmTeD DS Rnoek Rty HOVTONTRD. SRR
oLoPIMN e’ ® dedfv%ad%ai &)cbz% RN BT,
SR FN0.

OR/eg=

P.T.O.
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Q. No. 2. a)

b)

2- (A

“A" has invited “B" for a dinner and “B" has accepted the invitation.
Subsequently “B" could not attend the dinner. “A" has filed a suit
against “B" to recover the dinner expenses. Can “A” recover the
dinner expenses ?

“est 2 uasc'ii 000 BRRERTIRLE Eod TS T D |
IRoZ T, LohesoxdRI. [oIT ‘W’ PrenTsnug

HEONOY, PpeTesns Lurd SAroedmn ‘D W'

:Dd)% o) B, e D rirrwIists s)wrﬁddg‘

TRRRS INTBUWIEE ?

UNIT =1

Explain the provisions relating to capacity to contract. Marks : 10
[{onTe il rtar: 1ot Rowoguy, QODTONT, DBOXO.

OR/emm
Explain the effect of mistake on the legality of contract.
30T TRRRbWTEon Hoed ) Mdod BOMTORNRY,
QTORD.
“A” and “B” entered an agreement before the marriage. In the

agreement they agreed to live separately after the marriage.
Is it a valid agreement ? Marks : 6

Y B W DEIFoD FeRFE womd udou&ioﬁas&;‘
IRRELNTT. & wRoREonY e Sibeiod 3033 g o
TR L2RRRTT. BT 205D towE et 7

OR/ogm

“A” and “B" have entered an agreement. According to the 73
agreement “A” must pay 5,000 Rs. to “B” and “B" must settle

the marriage between “A” and “C” a lady. Whether agreement

is enforceable ?

Yt SR e ot wEowREeR) IRRERHZVT.

& w@ow@icd IS e & 5,000 e, B “w” At Bemod
TREID D W’ DS FRDR[onI, "B” wow
ENOD Wed FYFrIRRIE. 33 LBoWRTOLTE
OnRRTRLEEe ?



Q. No. 3. a)

b)

Q. No. 4. a)

-3 4002
UNIT =1l
“An agreement in restraint of trade is void ". Discuss. Marks : 10
“ IR TSR, AWFORAT wEoWRE By . BurA.

OR/@g=
Explain the provisions relating to appropriation of payment.
RoToobn JNCSRENE, Rororimty RO HTOR.

“A” agrees to pay 5,000 Rs. to “B” if B's house is destroyed. “B”
has no house. Is it a valid contract ? Marks : 6
2" 8 bF T3 ©d 5,000 T, 7 derddesd wotd ‘et @D
LLBRWZT. “w” At DI TOFDY,. AT AoTd FTT
srowde 2

OR/e&g=
“A" a famous singer agreed to sing in a programme arranged
by “B". But before the programme “A” died. Can “B" compel “C”
the son of “A” to sing in the programme ?
“" S OTFBAT RONFERITY, HIEZ womd e o
TAT, MODERD waBRcRU. wut RoLriRn HpRrag,
" B RIS, RODFERITY, T[S “w”
Y 3 Sonmes A RS sEmedhIaRmnt ?

UNIT = IV

Who is a “finder of the goods” and what are the duties of a
finder of the goods ? Marks : 10
Ry AT Sieiniofloviplovilinor bl mpm 63;'&%#%

SR ?

OR/esg=

Explain “Ordinary damages” and “Special damages” with help
of decided cases.

FFORTE, TN Faeobreedn “mERT, 0T TR

“DB Toms R, OSOR0.



b)

Q. No. 5. a)

b)

4 (RO R

“A” has supplied one mobile to “B” who is a minor. Can “A” recover
the price of the mobile from “B” ? Marks : 6

“e8” ROWOT o’ Do) TR 20w wonsdmaes
(draz:io‘)ab aépdmﬁ uoﬂmw (;smw) o:bwdo:bm
R i o IOk od TRRDE BREWDTE ?

OR/eg=

“A" a famous dancer has agreed to dance in a festival conducted
by “B". But due to illhealth “A” could not dance. “B” filed a suit
against “A” for breach of contract. Decide.

‘W oIFens WISty FeraEes Ko ‘e wow Trg,
SSrsotn z..a;&aoad#a edd “u"f: Sanielolyytad aadrammn
BEFRED A *agmﬁa% BooT UQOTIWN ‘W'D ‘¢ éodsd
méoﬁoda BABTS. FFOR.

UNIT -V

Explain the contracts which can be specifically enforced. Marks : 10
QOFEERN WORRYREIT 80363##.#9( QTOXO.

OR/e@

Explain preventive relief and how the preventive relief will
be granted ?

Twogd TOTOTRT, ISORO Iy Tdeors TOTOIR)
Bert VBT ?

Write a short note on : Marks : 6
OO 58 WTOW0 :

Recovery of movable property.
230 ST SRS -

OR/ eg=»
Cancellation of an instrument.
o tafliont ]

o
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First Semester 3 Year LL.B. Examination, June/July 2019

Duration : 3 Hours

CONTRACT - | (2018 Batch)

Instructions : 1. Answer all five Units.

2. One essay type question and short note/problem
is compulsory from each Unit.
3. Figures to the right indicate marks.

Max. Marks : 80

4. Answer should be written either in English or Kannada

completely.

Q. No. 1. (a)“All contracts are agreements, but all agreements are not

(b)

necessarily contracts”. Explain.
‘Qo, FOROONYY wTOWNY, SET 2Ty LW
BoTOMLIeTOTI e ", QTORD.

OR/eg
“An agreement without consideration is void”. Explain with
exceptions, if any.
"B IPORQT wTOTY m:gmnmgzs". am emdm%d
LHINEROOT DWOAD.

‘A’ made a proposal to ‘B’ in June 2017. ‘B’ accepted it in
August 2018. Is it valid acceptance ?

‘e’ B 2omd TXRBHDR, ‘W we’ 2017 8, SRS,
‘W' oER) Bnxe 2018 Somd AFBORTYS. A B,TWOWTHT
x&e%éomrbgcso&e ?

OR/egs

‘A’ goes to a departmental store and picks an article with
price tag. When he goes to the counter to pay the price, the
shopkeeper refuses to sell the article. ‘A’ wants to sue
shopkeeper for breach of contract. Advise ‘A’.

‘0’ B womd SRoeks YRR Been WY INDTBAT MoFSPY
ST, Lod0EANT]VS. BB ©FTDIT SaDdIy Fomood
SRBOTN ney, Jefk (53,30 FPowo’)od BT Teewon ©
ool SROTD & BROTI), WO QoEORZS. ‘w’ D
weriod InOES acoqa BOXDD LVQOTINON T0E TBRABWED
WabRTS. ‘S FOT VeR0.

Marks : 10

Marks : 10

Marks : 6

Marks : 6

P.T.O.



Q. No. 2.

2-

(a) Discuss the legal effects of minor's agreement.

(b)

BT,T  F,I0N LTVOCT TIRTIT TOMRTONISY
WFAD.

OR/#g=»

“An agreement in restraint of trade is void”. Explain with
exceptions, if any.

‘R OTT T, TOII) QWFOPTT  WOT  WT0TH)
a‘ma‘dmﬂdogd". faa‘a'; ewmdm?r%d v jTat=dolelalat
QWORO.

‘A’ contracts with ‘B’ to kill ‘C’ for a sum of rupees one lakh.
‘B’ kills ‘C’. ‘A’ refuses to pay. Can ‘B’ recover the amount ?
Decide.

T S, 8¢ [RI’TT WO OF TR BREOFTTN
‘U W Hed wIos m&m'é%@a". W'D IR, . {005]
BRRTE. ‘'R Tre B JTFOTT]YS. W' BEVII,
RRRO TRTBWBROTE ? VEDFOAD.

OR/eamz

Anand is a spiritual advisor. Bhaskar, an old Hindu man, is
adisciple of Anand. Anand advises Bhaskar to gift away the
whole of his property to him with a view to secure benefits
to his soul in the next world. Bhaskar makes gift of whole
of his property to Anand. Later Bhaskar wants to cancel
this gift. Can he do so ? Advise Bhaskar.

CROT SERZE TOCOTNTRS. XS Q0w Wotie FTE
eSS SR MNWTRE. AFIE Soed ©ZF TOLRTTIY,
s anedesnd AR A0 IR R SIRB 0T
SI0TI> WRTIN SUTLeBROTS. SO T,TT YPRTI> I
DY, BA (h;Sg)o:bag‘ SI0TAR TS RIS, STT0IT
PORTD © IR, 0w, InREL WD, BRI Tork
BRBWETE ? IO FOTODTY, VeRO.

Marks : 10

Marks : 10

Marks : 6

Marks : 6

-~
-
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Q. No. 3. (a)Explain in brief the various modes of discharge of

(b)

contracts.
FOIOONY QRBFS (WRERNAE)CH DG &)t;mafrwab xoéwasan
QWOXD.

OR/eg=»

Explain the law relating to time and place of performance
of contract.

Bo00T BoEeddod AEdoD B *’d% ROWOQAT BORRTIY
WORO.

Rama promised to marry Seeta after the death of his father.
But he married Suma when his father was alive. Seeta
wants to sue Rama for breach of contract. Advise Seeta.
oo 3 3etdod AFSE J020 REBRID) SochScngmon
BReR TN ERRTT. S VS 33, 300 wrbdthmonde
TR, FTBodRrOSSE. F000T LVQOTIMON 1R
OoRDS DT, wosl BREBEL wWobRT]Y. AR FOT
e30.

OR/eg=

Umesh has agreed to sell his house to Ganesh for rupees
10 lakhs. But that house was destroyed by an accidental fire
before Umesh could sell it to Ganesh. Ganesh institutes
a suit against Umesh for breach of contract. Decide.
TR 3:1 méoim) nsesdn TR o3 eTorantevhiat
N plopt ] s&ndoo u&imbma! (Slnle] emaSawab & FadY
nBesan W0 Rnaos Segde ST (vl e
RF0T0 TT0WB). FTOT LVQOTEMON ﬂt@ez!ab voneteord
&)doc;a mdcmag‘ BRBWZ]S. AEFOWRO.

Q. No. 4. (a) What are the remedies available for a breach of contract ?

Explain.
OO0 LVQOPIMON BATRE TOTONTIRER) ? NFOR0.

OR/egz

Explain general and special damages with the help of
decided cases.

DEOFONRVY, TICENE FToDDT ToRT, I DIeR
TOZUFINTRY, I[OXO.

Marks : 10

Marks : 10

Marks : 6

Marks : 6

Marks : 10

Marks : 10
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(b) ‘A’ leaves an article at ‘B’s house by mistake. Can ‘A’
recover the article from ‘B' ? Decide. Marks : 6
‘OR WO ST ‘W'S BFeDY, [T WeDWOTD.
‘O 'W'RE & SWNTF, TERERYWITE ? JEIFCWAD.

OR/egs»

‘A’ contracts to supply goods on a specified day to ‘B’.

A does not supply on that day, as a consequence of it ‘B’

has to close the factory. Advise remedies available to ‘B'. Marks : 6
WOTD AOFH, HITOT zso’ﬁagt TP ROJYoh ‘B’ ‘W'S

tirdodd), oot SIRBERWTS. S08 &8 DI ‘e’ B WOB,
TGO, . ABOT ‘W' mr&fo:a:% ang’z:!emmgd.

‘want BeoBE HoEond B JVBODI), VeRO.

Q. No. 5. (a) What is meant by specific performance ? Who can claim it ?

Marks : 10
ROFE, J05e08 20TTed ? VB, CIRTO FedaTOmd ?
OR/eg=»
Explain perpetual and temporary injunctions. Marks : 10

T3 W) HIE JWFOFTENRYR), DTORO.

(b) Rama is the owner of a building. Shama diposesses Rama
from this building by force. Advise Rama. Marks : 6
TR BWBERPOTT TROTWNS. B FBOOT T,
Do), Wem,c3ReNN0E BROTIIS. TRDIN FOB
NeRO.

OR/eg=»

B, being a medical advisor, threatens to publish patient C's

written communications that are with him showing that C

has led an immoral life. What course of action would you

advise to C ? Explain. ' Marks : 6
‘W Q0w F@dead FOBWOD Y Ceencint T

338 S TTOBY, IPBFNEROBTT T, &, [HTNTIY
WHTONRRYRFmN F'aR HT0F TS, Jeey odnss
TOTTBI), ‘8’ Aewd8ed ? H[ORO.
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First Semester 3 Year LL.B. Examination, December 2018
CONTRACT -1
(2018 Batch)
Max. Marks :

Duration : 3 Hours

Instructions : 1) Answer all five units.

2) One essay type question and short note/problem is

80

compulsory from each Unit.
3) Figures to the right indicate marks.

4) Answer should be written either in English or Kannada

completely.

UNIT = |

Q. No. 1. a) Define Proposal. Explain the circumstances under

which it lapses.
TDTICINT TS0, BT CIRT Re@r ) ormns3s ?
S3ox0. - ° %

OR

Q. No. 1. a) An agreement without consideration is void. Discuss.

T3FoLud wTos 5@53, WIF 0.

Q. No. 1. b) Solve the following problem :

NS ﬁas’ona WA :

Nataraj posts his letter of proposal to sell his house to Lingaraj
on 16" March 18. Lingaraj receives this letter of proposal on
18" March 18. On the same day, Lingaraj posts his letter of
acceptance. Thereafter Lingaraj sends a telegram revoking
his acceptance on 19" March 18. Nataraj receives Lingaraj's
acceptance letter on 19" March 18 and telegram on 20"
March 18. Is there a contract between Nataraj and Lingaraj ?

Se3ed B TR RS FRTHCI Oonones Rt Hmeos
16-3-2018 Zo c&caﬁa‘i‘%ﬁﬁ TBRT. onow Rt B3 JRTS
OFocs 18-3-2018 Totd Feogd. edde 0% doroonad 33
283 TYTIY eord Jurint . BuTezd denoond 33
R, G IO BooTEOINT BT et 19-3-2018 Towd
Fod ToTeBIP) TRWRRT. Juoesd donoenr s 2,683
ai‘g'&f&’% 19-3-2018 Tow> dsé_g ot) ﬁodeeﬁda’% 20-3-2018
Bord TECR0TW, v, mg_;i WG, wEowRSIRATCIE ?
OR

Marks : 10

Marks : 10

Marks : 6

P.T.O.
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Q. No. 1. b) Ganesh goes to a departmental store and picks an article

with price tag. When he goes to the cash counter to pay
the price, the shopkeeper refuses to sell the article. Ganesh
sues the shopkeeper for breach of contract. Can he
doso?

R ot SRoow Soerii e tE ANOTRIT RegeSY,
TR BIBAHT. SR TInad Fomwedd SRET T
BN TTI, JFECRERWITEHA Soerick FRdEd ¢
DT, SRV STRORITE. WEOWHFR WYLPH™N
neSedsd S9riod Sndees HUE, s BREEE. eI wr
BRBBGEE 7

UNIT = I

Q. No. 2. a) Discuss the effects of minor's agreement.

SR FFOID BREFERCB  LTETT &’bmmﬂ#@t WR3FR0.
OR

Q. No. 2. a) Define fraud. Distinguish it from misrepresentation.

ToL3HORTY TR0, VTR, B, DTRTFEOLT QeTiER.

Q. No. 2. b) Solve the following problem.

Q. No. 2. b)

BINS TR, WARD:

Amit promises to obtain for Amar an employment in the
National School. Amar promises to pay Rs. 5 lakhs to Amit.
Is this agreement valid ?

DO 000 TSRS 5307 wd:%mn SO0 P08 AERZE
LEDO°T =R 5 vghdm BT ot eﬁwﬁﬁ?\? VRS, B3
uz:j;cs@ RRTIF BN 2

OR
A agrees to pay B one lakh rupees, if B will marry A’s

daughter C. C was dead at the time of the agreement.
Decide.

2,003 e ‘Y 030 ‘'R cR B E 'y’ odaaig‘dcd:aiomwd
‘o 030 W T Lot OF, TRmRel BREIPIIN WXBRTIT|T.
‘2 030 ToToFo Sednt RRCINTYY. VOO,

Marks : 6

Marks : 10

Marks : 10

Marks : 6

Marks : 6



AR 3

UNIT = 1lI

Q. No. 3. a) Discuss doctrine of frustration with the help of leading
cases.

QFFO3 T[FSnY TsocdDen PO z.c%c#rdsig‘ 230,
OR
Q. No. 3. a) What is breach of contract ? Distinguish between
actual breach and anticipatory breach of contract.
3000 CVUCPR Q0TEERD ? WY GVVTS [T VOLTT
3000 VYOI ONARD.
Q. No. 3. b) Solve the following problem :
BINT BIK, WRRO:
A Kala Bhavan was agreed to be let out on a certain day.

Before that day, it was destroyed by fire. Discuss the
consequences.

RO DFETD 20T R PRI, LA BREED
LTTEPNTPE. & Q8T Rerse e tiosoloon WTRNBE
TOFTIW 3F A0,
OR
Q.No.3. b) Ajitagreed to deliver the goods to Avinash for certain price on

13-11-2018 without fail. Time is essence of the contract. Ajit
fails to deliver the goods on 13-11-2018. Avinash rescinds

the contract and files a suit to recover damages. Decide.

e eRmTan 13-11-2018 Totd ot a&ra';{“, o7y
RogordR) Samce Gojelop SN LR, FedCID  LEOWBTD
St Deigns. 13-11-2018 Totd M a'gac;,zbsﬁq
3T DFOTRTR LRI LECWRECIR) B TS ToT0
o B9 SRBeEd TREZYE. Ve CIRD0.

UNIT=IV -

Q. No. 4. a) Explain general damages and special damages with the
help of decided cases.
PO BITEING BF0ITRONT SR, B BeX
aSOmdrM'ﬁi QWOR.

OR
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Q. No. 4. a) What is Quasi-contract ? Explain the different types of
Quasi-contracts.
&0 - LEBOWRE QOTTERO? QNG De80T LT - UWOWRBNTT)
QBOXO.

Q. No. 4. b) Write short note on :
UsspofiiNlelovelel
Liquidated damages and penalty.
FFOT T WOTT Tone WO,

OR
Nominal damages.
el (mg) TOTC P

UNIT -V
Q. No. 5. a) Explain what contracts can be specifically enforced.

IR FTTOMIR), DOFTFON LEF SRRPRLTOR 0TI
QIO

OR

Q. No. 5. a) Explain the circumstances in which courts cannot
grant injunction.

CIRET RoWPFNYY TCaROCINTD SECIREoNTY TR0
WY ?
Q. No. 5. b) Write short note on :
(oo SleiovhieR
Declaratory Decree.
PreRIZe SePrnivd
OR

Recovery of possession of immovable property.
zé)d BHOD M,QEIICITY, 009 THECKDE.
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